3 RERTEAIVTRERE

EFERLS i - ER (Ba/kg)

NO Eth we | maee | weg | PRES % iy 28 BB GaE | BRR ER | | wokoise| wokee
1| RBBE=RIVY | (BEBR) | BER BEm FRER — FRE =3 (HEHR) BRERRERE VY- Ge H24.1.18 | H24.1.20 <96 <13 <89
2 | BRRE=SULY | BER) | BER BEm FERER — FRE =3 (HEHR) BRERREREEVY— Ge H24.1.18 | H24.1.20 <74 <97 <93
3 | BRRE=4ULY | BER) | BER BEm FERER — HRE =3 (hER) ERERREREEVY— Ge H24.1.18 | H24.1.20 <81 <11 <11
4 | BRRE=SULY | BER) | BER BEm FERE R — B THUx BERREREVY— Ge H24.1.18 | H24.1.20 <89 <13 <10
5 | RABE=4JLY | BBR) | =ER BEm FERE R — 5] RoLryy RERREREEVY— Ge H24.1.17 | H24.1.20 <90 <14 <14
6 | BRRE=4ULY | BER) | BER BEm FERE R — 5] aATUF () RERREREVY— Ge H24.1.17 | H24.1.20 <88 <11 <94
1 | REABE=4JLY | BEBR) | =ER BEm FERIE M — P 25/ A (HEE%) BRERREREEVY— Ge H24.1.17 | H24.1.20 <82 32 52
8 | BRRE=4ULY | BER) | BER A FERER — FRE AF3 (HEE%) RERREREVY— Ge H24.1.19 | H24.1.20 <17 <10 <97
9 | BRRE=4ULY | BER) | BER A FERER — FRE =3 (KEHR) RERREREEVY— Ge H24.1.19 | H24.1.20 <85 <14 <11
10 | REBFE=2JULY | BEBR) | &=ER BT | EREH — 5] 2avXY (%) BERREREEVY— Ge H24.1.18 | H24.1.20 <84 <12 <89
1" | REBFE=2JLY | BEBR) | #ER FHAET | EREH — HxE PEVE LG ) EERREREVY— Ge H24.1.18 | H24.1.20 <98 <14 <12
12 | REBE=2JLY | BEBR) | =ER BT | EREH — 5] 2avXY (%) EERREREVY— Ge H24.1.18 | H24.1.20 <18 <97 <87
13 | REBE=4JLY | BEBR) | &=ER FHAET | EREH — HRE SXF (HEE%) EERREREEVY— Ge H24.1.18 | H24.1.20 <15 <11 <11
14 | REBE=4JILY | BEBR) | &=ER BT | EREH — HxE H7 (e EERREREEVY— Ge H24.1.18 | H24.1.20 <92 <11 <94
15 | RABFE=4JLY | BEBR) | =ER BT | EREH — B pEN ERERREREEVY— Ge H24.1.17 | H24.1.20 <11 84 110
16 | REBFE=2JLY | BEBR) | =ER JIRET FERIE M — P 25/ A (HEE%) BRERREREVY— Ge H24.1.17 | H24.1.20 <83 14 <11
17 | REBFE=2JYLY | BEBR) | =ER ALl FERIE & — xR RARLL=ITF (FEER) EERREREEVY— Ge H24.1.19 | H24.1.20 <719 14 14
18 | RABE=4JLY | BEBR) | =ER W2 ET FERE R — R RARLL=ITF (FEER) ERERREREVY— Ge H24.1.19 | H24.1.20 <719 <86 <81
19 | REBFE=2JLY | BEBR) | =ER W2 ET FERE R — TR RARLL=ITF (FEER) RERREREEVY— Ge H24.1.19 | H24.1.20 <86 <11 <11
20 | BRRE=SULY | BER) | BER L=t FETRIE & — xR RARLL=ITF (FEER) RERRERE U Y— Ge H24.1.19 | H24.1.20 <69 <67 8
21 | BRRE=SULY | BER) | BER E%AW | EREM — SR 45 EERBREREEVY— Ge H24.1.19 | H24.1.20 <61 <17 <67
22 | BRRE=SYLY | BRER) | BER E%AW | EREM — SR 45 ERERREREEVY— Ge H24.1.19 | H24.1.20 <59 <84 <90
23 | BRRE=4YLY | BER) | BER E%AW | EREMR — SR 45 EERREREEVY— Ge H24.1.19 | H24.1.20 <70 <17 7
24 | BRRE=SYLY | BER) | BER E%AW | EREM — SR 45 ERERREREEVY— Ge H24.1.19 | H24.1.20 <17 <96 <718
25 | BRRE=4YLY | BER) | BER E%AW | EREM — SR 45 EERREREEVY— Ge H24.1.19 | H24.1.20 <719 <92 <86
26 | REBE=4)LY | (BER) EER BT FERE R — SR 45 ERERREREVY— Ge H24.1.19 | H24.1.20 <15 <97 <718
27 | BRRE=SULY | (BRER) | BER BT FERE R — SRV 45 EERREREEVY— Ge H24.1.19 | H24.1.20 <79 <11 <97
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I9%-131 | £Yh-134 | £ 4-137
<6.1 <170 <18
<58 <83 <16
<15 <18 <69
<69 <97 <86
<62 <17 <71
<64 <97 <79
<59 <83 <62
<16 <81 <98
<179 <95 <81
<83 <93 <13
<170 <11 <85
<58 <13 <80
<51 <96 <719
<57 <86 <94
<66 <91 <67
<17 <11 16
<712 <86 <69
<13 <92 <70
<67 <95 <85
<17 <11 <88
<66 <89 <71
<83 <11 <719
<65 <86 <86
<56 <13 <74
<61 <87 <72
<62 <82 9
<57 <13 <79
<14 <14 <14




EFERLS i - ER (Ba/kg)

Eth we | maee | weg | PRES % iy 28 BB GaE | BRR ER % | wokoise| wokee
REBE=4JLY | BEBR) | #ER BEm FERE R — SR Pl BRERREREEVY— Ge H24.1.18 | H24.1.20 <94 <12 <93
BRRHE=4VT | (BRER) | &GEE AW | ERBES — SR Pl BRERREREEVY— Ge H24.1.18 | H24.1.20 <14 <13 <13
BREHE=4IVT | (BRER) | &#EE AW | ERBER — SR bl BRERREREEVY— Ge H24.1.18 | H24.1.20 <95 <14 <15
REBE=4JLY | BEBR) | #ER B3/ FERE R — SR F/op RERREREVY— Ge H24.1.19 | H24.1.20 <13 <17 <11
REBE=4JLY | BEBR) | #ER RENT | ERBEH — SR pEI EERERRE L S— Ge H24.1.18 | H24.1.20 <11 <16 <13
REBE=4JLY | BEBR) | #ER A FERE R — SR /P ERERREREVY— Ge H24.1.18 | H24.1.20 <85 <12 <14
RERE=4ILY | BER) EER AJIET FERE R — SR pEI EERREREEVY— Ge H24.1.19 | H24.1.20 <15 <16 <13
REBE=4JLY | BEBR) | #ER A FERE R — SR Pl ERERREREEVY— Ge H24.1.20 | H24.1.20 <13 <12 <14




